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gooooooocsSoodooooooooooooooooooooogoooooonoo
O00O000O000O0DbDO00Oo0o0oO0ooOoboooDOoocCcsoooooUoooooDo
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0510 00000000

oo 0ooo f(z) 000000 «° |000000 f(z°)|000000 IS
1. Parabola | fi(z) = I\, X2 (,---,0) 0 [-5 5N
2. Rosenbrock f(z) = SNH1000G — Xu1)? + (1 = Xo)2} L---.1) 0 [-22]
3. 2V minima | fa(z) = XN, (3¢ — 16x2 + 5x,} ~(-29,---,-29) ~ -78N [-5 5N
4. Rastrigin | fu(x) = SN,{x2 — 10 cos(@x,) + 10} ©,---,0) 0 [-55M
5. Schwefel | fs(x) = ¥\, (X0, %)? (©,---,0) 0 [-55]M
6. Levy fo(x) = & { SN — 121 + 10 Sirf(wxa,1))] + 10 sirf(wx) + (xy — 1)2)} (L--.1) 0 [-5 5N
7.Ackley | fi(z) = 20 exp{—0.2 NS xg} - exp|2 2N, cos ) + 20+ e ©,---,0) 0 [-5 5]V
8. Griewank | fg(@) = z&5 Sy R — H,““Zlcos(%) +1 (,---,0) 0 [-50 50]¥
9. Alpine fo() = N, % SinX, + 0.1 (,---,0) 0 [-10 10}
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0521 0000000000 Cuckoo Searadh 0000 T =1000]
0o N 00000 Cuckoo Search (358 0 B) 000 Cuckoo Search
1st B) 8th B) 17th B) Mean Lin Rank Exp Rank
10| 008 (1.60) 0.11 (1.35) 0.29 (1.00) 3.51 0.09 ¢ 2 0.22 14
50 | 68.8 (150) 82.0 (1.65) 123  (1.85) 177 117 16 150 4 20
1. Parabola
100|| 320  (1.60) 344  (1.35) 482  (1.10) 522 452 16 459 17
300 1740 (1.75) 1827 (1.90) 2192 (1.20) 2109 2061 14 1990 13
10|| 156 (1.75) 17.9 (1.60) 29.7  (1.20) 148 133 1 23.6 15
2 Rosenbrocl 50 1649 (1.85) 2232 (1.95) 5320 (1.20) 8279 2454 10 3151 12
100 9509 (1.90) 13712 (1.60) 28983 (1.20) 25863 14797 9 13614 ¢ 8
300|| 76273 (1.95) 104251 (1.65) 119655 (1.20) 111864 96619 ¢ 7 87326 ¢ 5
10| -718 (0.95)] -702 (0.85)| -685 (0.65) -665 -699 10 | -681a 21
5 N minima 50 | -2778 (1.60) -2731 (1.40) -2471 (1.95) -2117 | -2532 16 | -2512 17
100| -4675 (1.75) -4493 (1.50) -3576 (1.15) -3243 | -3906 16 | -4047 15
300|| -9477 (1.85) -8141 (1.60) -4592 (1.20) -5853 -6335 14 —7650 10
10 || 419 (1.00) 437 (1.25) 46.7 (1.45) 528 30.8 e 1 378 1
4. Rastigin 50 467  (1.95) 539  (1.60) 585  (1.25) 628 515 ¢ 6 455 o
100|| 1157  (1.99) 1307 (1.65) 1404  (1.20) 1456 1279 ¢ 7 1181 ¢
300| 4294 (1.99) 4669 (1.65) 4985  (1.20) 4947 4628 ¢ 8 4403 ¢ 4
10| 598 (1.35) 7.09 (1.65)| 134 (1.75)] 91.7 8.69 13 18.9 a 21
5. Schuefel 50 37208 (1.45) 44502 (1.25) 68744 (1.85) 116606 | 67886 16 83286 a 19
100|| 748580 (1.60) 823863 (1.35) 1184932 (1.10) 1459967 | 1117188 16 | 1217199a 18
300|| 42969321 (1.65) 45610753 (1.85)58315435 (1.99)57522198 54229869 15 | 52207603 14
10|| 362 (0.90) 519 (0.80) 9.26 (0.55) 11.9 755 15 12.7 21
6. Lovy 50| 401  (1.95) 53.8 (1.65) 60.3 (1.15)| 745 47.9 ¢ 5 39.6 ¢ 1
100| 59.2  (1.99) 79.9 (1.65) 949  (1.20) 103 75.6 ¢ 7 62.7 ¢ 3
300 97.3 (1.99) 118  (1.65) 137  (1.20) 137 116 ¢ 7 101 ¢ 3
10| 1.38 (1.35] 1.64 (1.10) 254 (0.75) 3.35 152 ¢ 5 2.87 a 19
7. Ackley 50| 6.47 (1.35) 6.80 (1.15) 7.74 (0.95)]| 8.05 7.24 12 7.66 16
100/ 8.25  (1.40) 845 (1.65) 8.93  (1.90) 9.16 8.70 12 8.71 12
300/ 9.63 (1.65) 9.68 (1.90) 10.0 (1.20) 10.0 9.83 14 9.69 10
10| 044 (0.80) 057 (055 0.92 (1.25] 0.95 0.56 ¢ 7 041 e 1
6. Griowank 50| 3.46 (0.80) 4.03 (1.05) 6.16 (0.55) 6.3 4.88 12 5.13 14
100| 10.6 (0.95) 11.8  (1.15) 149  (0.65) 15.0 13.9 15 13.5 13
300 47.0 (1.10) 49.1  (0.95) 53.6 (1.65) 53.7 54.6 20 52.1 14
10| 1.39 (1.85| 1.80 (1.55) 224 (1.15) 3.11 1.63 ¢ 6 1.08 o 1
o. Alpine 50| 49.9 (1.85) 539 (1.55)] 642 (1.15)| 754 60.9 17 50.3 ¢ 4
100| 150  (1.85) 157  (1.55) 181  (1.15)| 198 176 16 155 ¢ 7
300/ 638  (1.90) 667  (1.60) 738  (1.20) 751 722 16 668 9
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053] 0000000000 Cuckoo Seardi00O0O0O T = 10000
N 00000 Cuckoo Search (38 0 B) 000 Cuckoo Search
oo
1st B) 8th B) 17th B) Mean Lin Rank Exp Rank
10 0.00 (1.99) 0.01 (1.65) 0.02 (1.25) 0.24 0.00 ¢ 2 0.00 ¢ 2
50 0.11 (1.99) 1.13 (1.65) 5.86 (1.20) 78.8 0.17 ¢ 2 0.05 1
1. Parabola
100 1.87 (1.95) 116 (1.60) 59.8 (1.20) 266 6.80 ¢ 6 0.66 1
300 146  (1.90) 353 (1.60)| 1433 (1.20) 1413 677 13 323 ¢ 8
10 || 5.87 (1.99) 7.67 (1.65) 9.48 (1.10) =26.1 6.22 ¢ 2 6.03 ¢ 2
50 76.9 (1.99) 214 (1.65) 791 (1.20) 5119 911 ¢ 3 74.6 o 1
2. Rosenbrock
100 269  (1.99)) 1396 (1.65) 10686 (1.20) 17549 501 ¢ 3 300 ¢ 2
300|| 4805 (1.99) 44367 (1.65) 119185 (1.20) 90762 16878 ¢ 5 6429 ¢ 3
10| -782 (1.10) -781 (1.20) -775 (0.60) -750 —783 o 1 -776 17
50 | -3362 (1.65) -3338 (1.45) -3252 (1.20) -2728 -3432 e 1 -3415 1
3. 2N minima
100|| -6508 (1.95) -6328 (1.65) -5550 (1.20) -4541 -6443 ¢ 6 —6616 1
300| -17825 (1.95) —-15274 (1.65) -8091 (1.20) -9200 | -14641 10 | -17013¢ 5
10| 159 (1.20) 17.1 (1.45) 190 (0.85) 23.2 9.80 « 1 10.6 o 1
o 50 333  (1.99) 405 (1.70)| 438 (1.20) 509 232 e 1 243 o 1
4. Rastrigin
100 766  (1.99) 1094 (1.65) 1193 (1.25) 1291 761 o 1 699 o 1
300|| 2973 (1.99) 4324 (1.65) 4750 (1.20) 4710 3689 ¢ 3 3304 ¢ 2
10 0.01 (1.99) 0.21 (1.65) 0.58 (1.20) 5.55 0.02 ¢ 2 0.01 ¢ 2
50 394  (1.95) 1218 (1.65) 4414  (1.20) 53810 1315 9 577 ¢ 3
5. Schwefel
100| 13689 (1.95) 41408 (1.60) 161847 (1.20) 765599 | 55417 10 | 258454 5
300|| 3620172 (1.90) 8112337 (1.60) 29494433 (1.20) 37266326 13136408 13 | 6662217¢ 7
10 0.01 (1.40) 0.02 (1.65) 0.09 (1.55) 1.39 0.00 o 1 0.00 o 1
6L 50 246  (1.99) 304 (1.30) 34.3 (1.55) 51.0 17.3 1 186 ¢ 1
. Levy
100 30.2 (1.99) 589 (1.65) 70.5 (1.20) 84.9 348 ¢ 2 304 ¢ 2
300( 47.0 (1.99) 101 (1.65) 124 (1.20) 125 69.8 ¢ 3 57.0 ¢ 2
10 0.12 (1.80) 0.18 (1.60) 0.31 (1.15) 0.87 0.03 o 1 0.03 1
7 Ackl 50 190 (1.70) 2.50 (1.40) 3.60 (1.05) 4.99 1.65 e 1 1.20 ¢ 1
. Ackley
100 3.40 (1.70) 3.88 (1.40) 6.03 (1.05) 6.66 3.49 ¢ 2 3.44 ¢ 2
300| 6.74 (1.65) 7.42 (1.85) 9.10 (1.20) 8.95 8.02 11 7.54 10
10 0.13 (0.60) 0.16 (0.45) 0.31 (1.15) 0.49 0.10 o 1 0.11 » 1
) 50 0.18 (1.45) 0.26 (1.20) 0.82 (0.85) 1.81 0.81 17 0.10 1
8. Griewank
100 0.95 (1.25) 1.07 (1.45) 1.65 (1.60) 5.43 1.63 17 0.89 1
300|| 5.93 (1.20) 8.07 (1.05) 21.8 (0.85) 28.9 27.7 a 20 14.1 14
10 0.16 (1.99) 0.60 (1.60) 0.73 (0.65) 0.87 0.08 o 1 0.13 1
9. Al 50 103 (1.99) 243 (1.65) 36.7 (1.20) 48.8 18.0 ¢ 5 13.1 ¢ 3
. Alpine
100|| 416 (1.99) 856 (1.65) 123 (1.20) 146 75.3 ¢ 6 54.2 ¢ 3
300 297 (1.99) 476 (1.65)] 630 (1.20) 641 472 ¢ 8 365 ¢ 3
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i) B -2 K, F(@K) < f@'(K)
vl = { 0, otherwise (6.2)
2(k+1)= 2K + v'(K) 6.3)

0000a,A>00000000uPeter = gheteri(k) — g/(K)O w@n9om = o' — '] gPetteri
0(17) 000000 betteddr#i 00000000 Uz(L,mOOODDOR,¢peRVN
O000D0D0000RODOOO0OOODDOOO Ue(0,1)000000¢ 000000
0000000 U(-05,05) 000000000
06.1000000000000000000DO0(6.1)000000000000O0O0O00
# -2 00000 00000000002 0000000000 00000d e
00 betterz®™™® 0000000000« 0000000000000 200000
00000000 R,¢00000000000000000000000000000
00000000« 00000000000000000& 000000
000000004300 ADMO0O0O0O0OO0OO0OOO0O0OO0O0O0O0000O0O0O0
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Stepl00000O
D00D000002((K-Ji=1,2---,mMIO0000000ISO0000000000
Step20000000
O0002(KOODO00D0D00000 Better'o000O &(kK) O

Better' = {z‘(K) | f(z‘(K) < f('(K): ¢=1,---,m}

(k) = { a:'(k) + a RuPe"  Bpyandom Bette?"i #0
x'(K) + Bpurandom otherwise
Oooooood
00 O Oubeter = glbeteik) — gi(k)0u@ndom = 27 (k) — 2! ()0 z"*1e(K) € Better' O
O00D00O Better' 0000000000000 00000000r0OOOO
D00 U(LmOODODODOOR, ¢ eRNODOODODODODODODODRODODOOOOOD
OD0000 Up(0,1) 000000 0000000000000 Ue(-05,05)00
Ooooooo
Step30 0000000
D000 (KOOoO0O00

lﬂmz{iWO—fWL f(&'(K) < f(z'(K)

0, otherwise

2k +1) = z'(K) +v'(K)

gobobooogd

Step40 00000
k=knaxOOOOOOOOOOOOOOOOOO0O0OK:=k+1000Step20000
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0610 0000000DODOOOODODDODOOT =200
PM
oo N PSO DE FA ABC
B=12 B=14 B=20
10 0.00 0.00 ¢ 0.01 0.01a 0.10 0.03 0.00e
50 31.4 15.9 42.9 3.49e¢ 22.5 14.9¢ 18.1a
1. Parabola
100 221 161 161a 58.6¢ 100 80.7¢ 425
300 1630 1759 492 947 a 613¢ 671 2275
10 8.18¢ 8.63a 11.1 6.02¢ 15.3 9.78 8.47
50 1375 998 224 297 ¢ 4694 414 2145
2. Rosenbrock
100| 18155 10212 138@ 18664 2447 A 1970 32723
300 112538 113003 19714 34778 20069 ¢ 90172a 115963
10 =717 —782e -665 —-776¢ -727 —735a -757
50 -2502 -2295 -3062+¢ —3539¢ -2841 a -3049 -1414
3. 2 minima
100| -2592 -2578 —-5526+4 —6448e -4792 -3107 A -1977
300 -5034 -4520 o -13525¢ —14035e -4520a -4520 A -4520 a
10 18.1a 23.1 56.2 2.29e¢ 9.47¢ 14.6 33.7
50 428 435 388a 89.9¢ 178¢ 231 512
4. Rastrigin
100 1144 1156 8774 387e 4904 696 1469
300 4457 4683 2785 26964 2493 30884 5165
10 0.02 0.02¢ 4.40 0.03a 2.51 0.37 0.00e
50 14112 7734 20577 2426 12282 9064 7671¢
5. Schwefel
100| 474080 342514 347566 16876% 245606 186178¢ 589659
300 40188152 38039143 11016695 275408504 | 14537627¢ 15574649 64363154
10 0.11 0.00e 17.1 0.03 0.16 0.07a 0.02¢
50 29.5 21.7a 33.0 2.38e 4.75 3.54¢ 31.3
6. Levy
100 59.7 57.4 40.2a 12.0 11.4¢ 11.7¢ 102
300 110 122 40.8¢ 55.7 a 31.0e 415 151
10 | 0.15 0.02¢ 6.57 0.70 0.69 0.33 a 0.03¢
50 4.97 3.90 7.63 7.00 3.68¢ 3.21e 3.94 a
7. Ackley
100 7.12a 6.33 7.63 8.67 4.94¢ 4,56 8.18
300( 9.09a 9.37 6.85 9.80 6.560 6.66¢4 10.2
10 0.22a 0.35 0.15 0.46 0.11¢ 0.11e 0.34
50 1.78 1.3% 1.56 3.15 1.54a 1.39e 1.43
8. Griewank
100 6.49a 5.16 18.3 9.12 3.39¢ 3.01e 11.4
300 40.8 45.0 57.9 41.1 a 16.5¢ 17.5¢ 57.9
10 0.40 0.22a 1.21 0.30 0.04¢ 0.01e 0.09
50 51.0 50.9 26.2a 7.400 13.3 9.69¢ 68.5
9. Alpine
100 156 163 58.6 a 39.0e 51.5¢ 52.8 221
300 669 732 141e 352 3124 394 a 822
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062 00000000000 OODODOO T =2000QT
PM
oo N PSO DE FA ABC
B=12 pB=14 B=20
10 0.00¢ 0.00a 0.00 0.00 0.06 0.02 0.00e
50 0.03a 0.01 0.36 0.00¢ 23.6 14.3 0.00e
1. Parabola
100 9.87 0.18 1.78a 0.00e 91.4 80.1 0.18¢
300 495a 21.3 19.0¢ 1.52¢ 628 621 2193
10 1.71¢ 6.25 3.53 0.98e¢ 14.3 10.1 5.8%
50 79.0 59.8¢ 84.1a 101 528 390 56.1e
2. Rosenbrock
100 537a 153e 289 245 ¢ 2161 1830 1112
300( 111566 3559 3075¢ 1241 191404 19592 115963
10 -722 -782¢ -666 —783e -737 -7384a -758
50 | -3361a —3839¢ -3265 —-3914e -2878 -3112 -3539
3. 2N minima
100 -3835 -7055¢ -6460 —7782¢ -4881 -5441a -1990
300( -5044a -4520 -18987 ¢ —-22053e¢ | -5304 -4520 -4520
10 8.78 0.57¢ 55.5 0.00e 5.52 5.20a 4.88
50 162 257 354 0.81e 133 1024 1494
4. Rastrigin
100 4834 728 778 12.8e 441 3454 678
300 3247 3037 2744 265e 2399 22024 5061
10 0.00 ¢ 0.00a 0.16 0.00 2.42 0.60 0.00e
50 23.1a 12.3 326 0.02¢ 12643 7124 0.06
5. Schwefel
100 20326 662 62504 12.0¢ 240955 174274 149
300( 69030094 370917¢ 581117 52882e | 15100250 14179676 18563442
10 0.01a 0.00¢ 9.60 0.00e 0.24 0.07 0.01
50 3.14 0.00¢ 24.6 0.00e 5.11 3.08a 0.03
6. Levy
100 12.4 0.03¢ 325 0.00e 11.3 8.30a 1.60
300 45.9 17.0¢ 38.0 0.36e 30.1a 27.9 139
10 0.22a 0.00 ¢ 6.62 0.00e 0.84 0.27 0.02
50 3.11a 0.02¢ 6.46 0.17+¢ 3.61 3.17 0.41
7. Ackley
100 4.77 0.19 4.35a 2.14 4.86 4.44 1.57¢
300 7.21 2.1% 3.90 ¢ 6.66 6.47 6.484a 10.1
10 0.10 0.00e 0.11 0.01¢ 0.10 0.04 0.05a
50 0.11 0.01e 0.02¢ 0.11a 1.54 1.35 0.03
8. Griewank
100 1.23a 0.09e 18.1 0.43 3.57 2.92 0.13¢
300( 9.60 1.51¢ 57.7 1.23 17.0 16.7a 56.8
10 0.00 0.00e 0.52 0.00a 0.07 0.00 0.00¢
50 2.04a 0.01¢ 11.4 0.10 11.7 7.10 0.00e
9. Alpine
100 27.3a 0.16¢ 27.0 0.53¢ 50.4 34.9 21.7
300 315 237 70.6¢4 13.5¢ 300 261a 774
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000000000000000000000000000000000006.20000
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0000000000 (7.1)0000000CSOOO0ONONOOONONNONOONONONOO
00000 (4000001 00000000000000000000000 lage(K)
Ok=12 -,k 000000000000 KOOOOOODO 000000010
large() 00000000000 A3>008000000

(7.1)

{ max (8 - AB, Brmink | 2 liarge(K)
min {8 + AB, Bmax, Otherwise
O00000000000000000 heD OOOOOOOOOOOO0OOOO0OOOO
Jd00d0d0oooooooooooooo3700000000000000000000
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O00000000000000000000000000 O OOOOOOOOOO
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Kk
Itargel(k) = max{o, Istart(l - %)} (7-2)

k.
3 Iend kmax
|targe(k) - Istart T (7-3)

I start,

0D0000000000000RO0D0ON00NON0N0N0N0000 BmnD000 Bmaed 000
ABO kendd lstarld len0 000 000000000000

* 0000000000000000000000000000000 Okeng= 0.95-KnaxOstart = 0.2 Xwigth
lend = 0.0001- XyidthD Xwidth = |Xmax — Xminl O Xmax = maxxin = 1,--- ,N;i = L,--- ,m; kK = 1}0 Xpin =
min{xn=1,--- ,N;i=1,--- , mk=100000
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(k) = x'(K) + a Ru " + Bpua"%M  Better' + 0
| 2'(K) + Bpuandom otherwise

Oooooood
00 O Oubeter = gibettery _ 2i(k)0 y'andom = o7 (k) — 2! (K)O ' Pete(k) € Better' O
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2k + 1) = 2'(K) + v'(K)

ﬁ . { maX{ﬁ - Aﬁ» Bmin}a | > Itarge(k)

min {8 + AB, Bmax}, Otherwise
O00Oooooo

Step4000000
k=knxy0OOOOOOOOOOOOOOOOOOk:=k+100O0Step20000

st

2

st

8
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target

end

end max k max

k
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0710 00000000000000000O0O0O k=1001

N 000000000 1100 B) goooooo
oo
1st B) 3rd (B) 6th (B) Mean Lin Rank Exp Rank
10 0.00 (2.0)) 0.00 (2.2)) 0.01 (2.6)) 0.06 0.00 6 0.00 4
50 7.60 (1.8)) 14.9 (2.4)) 29.0 (1.0) 116 8.17 ¢ 2 26.2 6
1. Parabola
100 67.8 (12.6)) 100 (1.2)| 425 (2.0)] 393 58.4 ¢ 1 108 6
300 565 (2.0) 671 (1.4)] 2275 (2.0) 1538 495 o 1 591 ¢ 2
10 748 (22) 847 (20)| 978 (1.4) 121 7.49 ¢ 2 1114 8
50 319 (1.6)] 414 (1.4)] 2145 (2.0)f 5906 297 o 1 540 6
2. Rosenbrock
100 1970 (1.4) 2447 (1.2)) 32723 (2.0) 21256 1460 o 1 2283 ¢ 2
300 17432  (1.0) 90172 (1.4) 115963 (2.0) 95943 14833 1 16936 o 1
10 -757 (2.0 -754 (2.2)| -735 (1.4) -721 -749 4 —724 a 8
50 -3049 (1.4)) -2682 (1.6) -1414 (2.0) -1886 -3097 1 -2650 4
3. 2N minima
100 -4792 (1.2) -3107 (1.4) -1977 (2.0) -2559 | -5166 e 1 —4437 ¢ 3
300|| -6132 (1.0) -4520 (1.4)] -4520 (2.0) -4667 -5918 ¢ 2 -5719 ¢ 2
10 9.03 (1.0) 146 (1.4) 337 (20)] 312 13.9 ¢ 3 11.4 ¢ 3
B 50 166 (2.0) 231 (1.4)] 512 (2.0) 495 217 ¢ 3 172 ¢ 2
4. Rastrigin
100 490 (1.8) 696 (1.4) 1469 (2.0) 1221 593 ¢ 3 535 ¢ 3
300 2493 (1.2)) 3088 (1.4)) 5165 (2.0) 4401 2662 ¢ 3 2582 ¢ 3
10 0.00 (2.0)) 0.00 (2.2)) 0.09 (12.6)) 1.30 0.04 5 0.13 a 7
50 3807 (1.8) 7671 (2.0)) 17695 (1.0) 66559 3884 ¢ 2 18682 a 7
5. Schwefel
100( 149871 (1.6) 212083 (1.8) 589659 (2.0) 1047926| 132624 1 291219 6
300| 14144176 (1.0) 15574649 (1.4) 64363154 (2.0) 45579151] 11845238 1 |15101423¢ 3
10 0.00 (12.6)) 0.03 (2.8)) 0.07 (2.4)] 0.39 0.00 o 1 0.14 a 7
6L 50 3.41 (a.6)] 4.75 (1.2)] 313 (2.0) 47.2 3.58 ¢ 3 7.08 5
. Levy
100 11.4 (1.2)) 13.9 (1.0) 102 (2.0 788 11.3 ¢ 1 135¢ 3
300 29.7 (1.0)) 415 (1.4)) 151 (2.0) 114 310 ¢ 2 320 ¢ 3
10 0.03 (2.4)] 0.03 (2.0 0.32 (2.6)] 0.36 0.08 4 0.19 6
50 273  (1.6) 321 (1.4)| 405 (1.0) 5.74 2.83 ¢ 3 3.86 5
7. Ackley
100| 4.53 (1.6) 494 (1.2) 818 (2.0) 7.47 4320 1 5.13 5
300 6.34 (1.0)) 6.66 (1.4)] 10.2 (2.0) 8.9 6.19 o 1 6.45 ¢ 2
10 011 (1.4) 014 (1.6) 0.34 (20) 0.38 0.42 7 0.11 ¢ 2
) 50 1.18 (2.8)] 1.39 (1.4) 174 (1.0) 3.87 120 ¢ 2 1.66 6
8. Griewank
100 2.66 (1.6)) 3.39 (1.2)) 114 (2.0) 108 241 e 1 3.71 6
300 15.3 (2.0)) 175 (2.4)) 57.9 (2.0)) 435 136 ¢ 1 16.0 ¢ 2
10 0.01 (2.6)] 0.01 (1.8)] 0.11 (2.0)) 151 0.02 4 0.02 4
9 Albi 50 9.69 (2.4)) 0.01 (2.8)) 0.11 (2.0)) 151 0.02 4 0.02 4
. Alpine
100| 515 (1.2) 626 (1.0)) 221 (2.0) 173 54.7 ¢ 3 64.4 4
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2. Rosenbrock’s Saddle Function
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4. Rastrigin Function
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5. Schwefel Function
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6. Léevy Function
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7. Ackley Function
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8. Griewank Function
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9. Alpine Function
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